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<div id="myCarousel" class="carousel slide" data-ride="carousel">

<!-- Carousel indicators -->

<ol class="carousel-indicators">
<li data-target="#myCarousel" data-slide-to="0" class="active"></li>
<li data-target="#myCarousel" data-slide-to="1"></li>
<li data-target="#myCarousel" data-slide-to="2"></li>

</ol>

<!-- Carousel items -->

<div class="carousel-inner">


http://tahlildadeh.com/CourseDetails/126/%D8%A2%D9%85%D9%88%D8%B2%D8%B4-bootstrap.aspx

<div class="item active">
<h2>Slide 1</h2>
<div class="carousel-caption">
<h3>First slide label</h3>
<p>Lorem ipsum dolor sit amet consectetur...</p>
</div>
</div>
<div class="item">
<h2>Slide 2</h2>
<div class="carousel-caption">
<h3>Second slide label</h3>
<p>Aliquam sit amet gravida nibh, facilisis gravida...</p>
</div>
</div>
<div class="item">
<h2>Slide 3</h2>
<div class="carousel-caption">
<h3>Third slide label</h3>
<p>Praesent commodo cursus magna vel...</p>
</div>
</div>
</div>
<!-- Carousel nav -->
<a class="carousel-control left" href="#myCarousel" data-slide="prev">
<span class="glyphicon glyphicon-chevron-left"></span>
</a>
<a class="carousel-control right" href="#myCarousel" data-slide="next">
<span class="glyphicon glyphicon-chevron-right"></span>
</a>

</div>
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<div id="myCarousel" class="carousel slide" data-interval="3000" data-ride="carousel">
<!-- Carousel indicators -->
<ol class="carousel-indicators">
<li data-target="#myCarousel" data-slide-to="0" class="active"></li>
<li data-target="#myCarousel" data-slide-to="1"></li>
<li data-target="#myCarousel" data-slide-to="2"></li>
</ol>
<!-- Carousel items -->
<div class="carousel-inner">
<div class="item active">
<h2>Slide 1</h2>
<div class="carousel-caption">
<h3>First slide label</h3>
<p>Lorem ipsum dolor sit amet consectetur...</p>
</div>
</div>
<div class="item">
<h2>Slide 2</h2>

<div class="carousel-caption">



<h3>Second slide label</h3>
<p>Aliqguam sit amet gravida nibh, facilisis gravida...</p>
</div>
</div>
<div class="item">
<h2>Slide 3</h2>
<div class="carousel-caption">
<h3>Third slide label</h3>
<p>Praesent commodo cursus magna vel...</p>
</div>
</div>
</div>
<!-- Carousel nav -->
<a class="carousel-control left" href="#myCarousel" data-slide="prev">
<span class="glyphicon glyphicon-chevron-left"></span>
</a>
<a class="carousel-control right" href="#myCarousel" data-slide="next">
<span class="glyphicon glyphicon-chevron-right"></span>
</a>

</div>
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<script type="text/javascript">
$(document).ready(function () {
$("#myCarousel").carousel();

b;



</script>
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<script type="text/javascript">
$(document).ready(function () {
$("#myCarousel").carousel({
interval: 3000,
pause: false
};
;3

</script>
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.carousel(options)

23S 5o LT b il @b jl L G2 9 63,5 63boT Ll gbs 6 jS Guub jl 1) 65l ,S gy ¢!

<script type="text/javascript">
$(document).ready(function () {
$("#myCarousel").carousel({
interval: 3000
IO
1

</script>

.carousel('cycle")

<script type="text/javascript">
$(document).ready(function () {
$(".start-slide").click(function () {
$("#myCarousel").carousel('cycle');

};



b;

</script>

<script type="text/javascript">
$(document).ready(function () {
$(".pause-slide").click(function () {
$("#myCarousel").carousel('pause');
};
;3

</script>

<script type="text/javascript">
$(document).ready(function () {
$(".slide-three").click(function () {
$("#myCarousel").carousel(3);
};
b

</script>

.carousel('pause")
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.carousel(number)
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.carousel('prev')
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<script type="text/javascript">
$(document).ready(function () {
$(".prev-slide").click(function () {
$("#myCarousel").carousel('prev');
b;

});</script>

.carousel('next")
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<script type="text/javascript">
$(document).ready(function () {
$(".next-slide").click(function () {

$("#myCarousel").carousel('next');

s
D
</script>
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<script type="text/javascript">
$(document).ready(function () {

$('#myCarousel').on('slid.bs.carousel', function () {



alert("The sliding transition of previous carousel item has been fully completed.");
s
IR

</script>
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